

PARDI EVENTS

08/22/2023 09:00 AM | DELIVERY TIME TBD **08/22/2023** 10:00 PM | STRIKE TIME TBD

PO: Shipping Address: Hummingbird Nest Ranch Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

			•		
Description		Qtty	Price		Total
RENTALS					
	8'x12'x12" Stage Cover in white	1	\$1,400.00	Т	\$1,400.00
	Stanchion Pole & Rope 20-Stanchions pole 15 Ropes	1	\$34.72	Т	\$34.72
			Total RENTALS		\$1,434.72
GRAND PRIX CO	CKTAIL HOUR:				
	Garden Props - Umbrella - Pink Stripe & Fringe 6' W x 7' H NO CUSTOM PAINT; ONLY 4 AVAIL.	4	\$134.40	Т	\$537.60
	Garden Swings - Kids WE only have 1 in stock and is adult size as well	1	\$582.40	Т	\$582.40
	Garden Benches - Giardino Dell' Iris - Love Seat 54"W x 26"L x 34.5"H NOTE - PAINT FRAME IN ALL WHITE	5	\$224.00	Т	\$1,120.00
	Garden Bars - Jardin Du Champ Elysees - Hedge Round 6 Pc Set _{Half}	l 1	\$1,680.00	Т	\$1,680.00
	Arches - Lattice NOTE - CAN SHELVES BUILT IN TO THEM SO WE CAN USE THEM AS DISPLAYS FOR HATS AND BOOTHS	2	\$896.00	Т	\$1,792.00
	Tot	al GRAND PRIX	GRAND PRIX COCKTAIL HOUR:		
VILLA TERRANC	DE:				
ППП	Dining Table - Florence - Oval Wood 10' 10'W x 4'L x 31"h	7	\$504.00	T	\$3,528.00
III	Dining Table - Florence - Rectangular Wood 10' 10'W x 4'L x 31"h	5	\$504.00	Т	\$2,520.00
T	Dining Table - Florence - Round Wood 66" 66"Diam x 30"H	2	\$392.00	T	\$784.00

Description		Qtty	Price		Total
T	Dining Table - Florence - Round Wood 72" 72"Diam x 30"H	2	\$448.00	Т	\$896.00
		Tota	Total VILLA TERRANCE:		\$7,728.00
PINK DINING CH	IAIR OPTION(S):				
	Dining Chairs - Barcelona - Blush 17" x 21"x 33"h NOTE - ONLY 250 AVAIL.	250	\$28.00	Т	\$7,000.00
	Dining Chairs - Barcelona - Blush Boucle 22"W x 25"L x 37"H NOTE - ONLY 105 AVAIL.	105	\$28.00	Т	\$2,940.00
	Dining Chairs - Washington - Rose Gold Frame Back and Seat Cushion: Blush Pink Linen NOTE - ONLY (30) BLUSH PINK LINEN CUSHIONS AVAIL.	30	\$21.28	Т	\$638.40
	Total P	INK DINING	CHAIR OPTION	I(S):	\$10,578.40
Ј ВООТН ОРТІ	ON(S):				
	Dj Booths - Boombox Dj 66"1/4 x 21" 1/4 x 57"H	1	\$560.00	Т	\$560.00
	Dj Booths - Montecito - Custom 65 1/2"x 21"x 54"H - Color Upon Request	1	\$604.80	Т	\$604.80
777777	Dj Booths - Santa Fe - Multicolor Reclaimed Wood 5'W x 37"L x 44"H - Custom Color upon request	1	\$560.00	Т	\$560.00
	Buffets & Display Tables - Boston - Buffet 8' 8'W x 31"L x 30"H	5	\$593.60	Т	\$2,968.00
AND ESTERNISHED	Benches - Montecito - Curved 8' Montecito - Bench Curved Garden 8' - Pink Poplin	2	\$134.40	Т	\$268.80
	8'W x 18"L x 19"H ONLY 2 AVAIL NOTE - FRAME PAINTED IN WHITE				
		Total DJ BOOTH OPTION(S):			\$4,961.60
BAR [WOMEN]:					
	Bars - Carmel - Curved 6' 6'W x 30"L X 42"H - NOT AS A SET - ORNATE FOOT INCLUDED UPON	1	\$560.00	T	\$560.00
	REQUEST; Front Options Upon Request				

Description		Qtty	Price		Total
	Bars - Carmel - Straight 5' 5'W x 30"L x 42"H - Front Options Upon Request	1	\$560.00	Т	\$560.00
			Total BAR [MEN]:		\$560.00
BARBACKS:					
	Barback - Avignon - Ornate Wood 58"W x 15"D x 94â\\ \text{H}	2	\$179.20	T	\$358.40
			Total BARBAC	KS:	\$358.40
General					
	Garden Bistro & Stand Up Tables - Jardin Du Luxembourg - Bistro Table In White	10	\$112.00	Т	\$1,120.00
	Garden Dining Chair - Jardin Du Luxembourg - Chair	13	\$28.00	Т	\$364.00
	Garden Dining Chair - Jardin Des Tuileries - Chair	12	\$28.00	T	\$336.00
	Barstools - Montana - Horse Saddle Chair this are normal size	1	\$218.40	T	\$218.40
	Custom Made	1	\$0.00	Т	\$0.00
	Garden Bar - Jardin Du Champ Elysees - White Lattice 12'	1	\$739.20	Т	\$739.20
	Props - Carts - Metal Flower Display Cart Metal Flower Display Cart - White Poplin w/ Valance	1	\$896.00	T	\$896.00
			Total Gen	eral	\$3,673.60
Services					
	Labor will be added once final selection of furniture is selected	1	\$0.00		\$0.00
Please make che	ecks payable to Revelry, Inc.		Total Produ	cts:	\$35,566.72
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc: Taxes :			\$0.00 \$3,378.84
Notes	Some of and origin is		Discou To	nts: otal:	(\$0.00) \$38,945.56
			Payme	nts:	(\$0.00)

Balance: \$38,945.56